Practice Exam #5

1. Find the vertex of the parabola and indicate whether it opens upward, downward, to the left, or to the right.

a. y=x%+4x

b. x=y*+4y

c. x=-3y2+6y-—11
d. y=-4x?-5

2. ldentify whether each equation, when graphed, will be a parabola, circle, ellipse, or hyperbola.
a. x*—4y?=16
b. 4y —x? =12
c. x2+4y?=100
d. 25x2?+25y? =100

3. Graph each equation.
a. x*+y?=100
b. 4(x-32+(y-2)?*=16

C. — ===

. (x+2)*-9y2=136
e. x2+y?—4x+6y=3

(x-2)% | y* _
f. = + o= 1

4. Graph each inequality.
a. y?—4y—-x+7<0
b. (x+1)2%+(y—-2)?<9
(x-2)* | (+4)?
% T 1
5. Graph the solution for the following systems.
{25;\:2 +9y? < 225
4x? +y% > 16

{;2 <1i-y
Z<y+1
6. Write an equation of a circle with the following specifications.
a. Centered at the origin with radius 1.
Centered at the origin with radius V7.

b.
c. Centered at (—2,1) with radius 3.
d. Centered at (3, —7) with radius 11.



7. Solve the following systems. Write as an ordered pair.

=

y=3xy-3
@71,
X

+3y =5

=3t =
(b) T

I =7y =8

y=x® =]
o )
()l\'r--’h-S

8. Find the first five terms and the 100™ term of the sequence.

a a,=4~n

b. b, =2"1
112

C Cn=m

9. Find the general term (formula) for the following sequences.

a. 1,234,..

b. 9,6,3,0,..

c. 8,421,..

d. 2,6,18,54, ..

e. 5,11,21,35,53..

10. Use summation (sigma) to write the following series.
1,2,3,4 .5
a. 3 + 3 + " + T + 3
b. 2+7+12+17+22

1,2,1,4 5
c. 4+§+2+7+8

11. Evaluate the sum.
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